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W % Density 2.714 g/a 2AASF P.1 NP A st=1] 0.M.C 17.5 (%)
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Al & w9 D KS F 2306:2000 A" & S5 A 5E
Al 5 W T 1
Wi:  934.5 Di: Ty Di: W DV :
DV:  789.7 TW: 177.1|DW: TV : :Dw: TV :
Ww: 144.8 Ws: 612.6|Ww: Ws: [ Ww: Ws:
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S |
WW:  1066.0 DV: Ty Di: :ww: DV :
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W: o 23.8 W: ! W:
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W DY i : D i : DIy
DV : TV : :DW: TV : :DW TV:
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1. H|5H AHA
= A H e 1 2 =1 ]
v & H 9 H 3 23 24
H o % WE (g) 81.716 79.245
H W + /75 Wai (g) 329.604 326.817
Waig @3S wo] == Ti(C) 27.8 27.8
2 Tx(C) 4 v B9 A% @
Sw Ti(C) o W Zo] Wi 1.000070|  1.000070
Wai - Wf (g) ® 247 .888 247 .572
Aolol 2% (Tx)oll et I F v EH+=29
=
oy Wax (5) =@ X ® + ¥ 329.621 326.834
2.8 F A 3
H$H + =X AR + B9 T Wbh(g)| 345.462 342.718
s 548 we Jawrge JEE9
on Tx(C) 27.3 27.3
xR AR T Wo (g) 25.057 25.096
T(C)Y e Ee Vo
(10 /TOC‘“) 2.719 2.724
Wo + (Wax - Wb)
2L tgt 5o W (g/cn) 0.99734 0.99734
E 9 9 Z=(g/cr) 2.712 2.717
¥ 7+ 2.714|(g/cr)
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= = 8 2o 2206.55 ci A 5967.1¢g
8 2206.55 ci 5967.1 g
=4} T 2.714
(A 2+ =) 7 7(g) 1| 9722.5 L2 | o780.9 | 3 | oouse
I I
Ao EFA (g) 3755.4 i 3813.8 i 3977.5
AOWE Y t(g/cr) 1.702 i 1.798 i 1.803
WW: | 1089.4|DW: [WW: | 1264.0|DW: [WW - 1356.5|DW:
DW: | 1004.9(TW: | 176.5DW: | 1146.9|TW: | 208.1jDV: 1208. 4/ TW: 186.9
i : 84.5Ws:  828.4;W 117.1Ws:  938.8)w: 148.1Ws:  1021.5
W: 10.21 W: 12.51 W: 145
& 5= W = A ! !
WW: | 1030.0|DW: lww: | 1382.6/DW: Ly : 1369.9|DW:
pv: | 952.8|TW: | 175.21DW: | 1253.9/TW: | 209.1[DW: 1220.5|TW: 180.0
T 77.2Ws:  777.6)iw 128.7 Ws:  1044.8)Ww 149.4 Ws: 10405
) 9.9" L 12.3! W: 144
I I
Hgn] W(%) 10.1 i 12.4 i 14.5
Az = Yd(g/ar) 1.546 i 1.538 i 1.574
9 57 2= | !
Az = ol o ewe oozt . s
(A B+EE)E7 (2) 4 10138.0[ ' 5 ] 10319.2 L6 —[ 10350.1
A2 A 7FA () 4170.9 i 4352.1 i 4383.0
Ao =Yt (g/cr) 1.890 | 1.972 | 1.986
WW: | 1374.8|DW: lww: | 1489.5|DW: Ly - 1349.6/DW:
pv: | 1215.8|TW: | 211.1DW: | 1298.6/TW: | 180.6/DW: 1156.6|TW: 174.9
T 159 Ws:  1004.7|Ww:  190.9 Ws: 1118.0,Ww: 193 Ws:  981.7
W: 15.8; W: 17.1; W: 19.7!
s 4 v 5 A | |
wi: [ 1478.5|pw: bww: [ 1369.7]pW: byw: [ 1208.7]DW:
DW: | 1299.3|TW: | 180.1lpw: | 1197.4 ™: | 206.41DV: 1121.6|TW: 206.1
w: 179.2 Ws:  1119.2|Ww: 172.3 Ws:  991.0|Ww 177.1 Ws: 915.5
W: 16.0) W: 17.4 W: 19. 3
H &S] W(%) 15.9 i 17.3 i 19.5
Az Yd(g/ar) 1.631 | 1.681 | 1.662
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Dolemasl TN @ | @ | @ | @e | ® | @ | ®
T g)
3X17 34 9406.6| 5565.2| 3841.4| 2222.56| 1.728 | 17.5 1.471] 2
3X42 35 9790.6| 5656.0| 4134.6| 2216.21| 1.866 | 17.5 1.588] 3
3X92 36 9813.2| 5582.7| 4230.5| 2213.99| 1.911 | 17.5 1.626| 3
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.700
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.670
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7 % A A Y of The
N B F R EHES) L I A
7] 01 2k
7o | Y 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
?%g F; 0 9.0 15.0 21.0 26.0 31.0 35.0 43.0 51.0 67.0 80.0
St=71
17 |SrEeEl 0.5 0.8 1.1 1.3 1.6 1.8 9.2 2.6 3.4 4.1
(kg f/
=] == ]_]:
?M§;§£; 0 0.045 0.075] 0.105| 0.130| 0.155| o0.175| 0.215| 0.255| 0.335|  0.399
ng F; 0 10.0 16.0 22.0 28.0 34.0 40.0 53.0 65.0 90.0 113.0
=] == ]_
g0 |SrEEEL 0.5 0.8 1.1 1.4 1.7 2.0 9.7 3.3 4.6 5.8
(kg f/
=] == ]—T:_
?Mﬁjﬁg; 0 0.050| 0.080 o0.110] 0.140] 0.170| 0.200] 0.265| 0.325| 0.449]  0.564
?Lg F; 0 9.0 16.0 22.0 28.0 34.0 40.0 54.0 68.0 98.0|  126.0
=] == ]—T:_
N GRS 0.5 0.8 1.1 1.4 1.7 2.0 9.8 3.5 5.0 6.4
(kg f/
=
s 0 0.045| 0.08| o0.110] 0.140] 0.170| 0.2000 0.270| 0.340| 0.489|  0.629
17 3 (2.5m) g'g <100 = 2.2% 5. Omm {g:; <100 = 2.5%
42 3 (2.5m) g'g <100 = 2.5% 5. Omm {g:; <100 = 3.2%
92 3 (2.5m) g'g <100 = 2.5% 5. Omm {g:; <100 = 3.3%
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=9 4 3 2y JEHAT ¢ 0|2 of 752l
A 8 XS A ==
1. 2L . HSHA=AL NEZ2LE == £288
Al s HIBS(22A) (] 75 53 375 | 26.5 19 95 | 4.75 2 085 | 0.425 | 0.25 | 0.106 | 0.075
T | r==sns®%) | 100.0 | 100.0 [ 100.0 | 100.0 |100.0 | 99.9 | 996 |93 | 91.5 | 79.6 | 65.7 41.9 35.4
t1|’<j1|‘='o':! 2 ()| 0.043 | 0.031 | 0.021 | 0.012 | 0.009 | 0.006 | 0.003 | 0.001 | 0.0001
=) o
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FO LA (2.0mmAl SUHE E4)
NE s 2088 leMAN 1 01BY o] 75
AlSLX:2016.8.24. ANE X AsH 7 /72
(BIAZAIZHED]) LA 692.03 g £9o|8t &t (w) : 23.7%
EI|2A : 577.00 g EoleUx (Gs) : 2.714
SIHAZAISEA W, : 115.03 ¢ AHXZE (PI) : N.P =AM MLUE
HZAIZ2H © Ws=100W; /(100+w) : 114.75 ¢
P2.0o(gdd2.0mmollAS JIRENE: 96.3%
1. 2IAHXZAZQ &4H =H(XAS )
NO : 1 NO @ 2 NO : 3
WW = 934.5 Ww = 1066.0 WW =
oW = 789.7 Tw = 177 A oW = 895.8 Tw = 179.7 oW = Tw =
Ww = 144.8 Ws = 612.6 Ww = 170.2 Ws = 716.1 Ww = Ws =
W= 23.6% = 23.8% W=
Yogtl o 23.7%
2. UISH ANE
= Z DA HIEHSS EEENEEE] A o ‘ o] EEOF
S3AZ t(min) | A== r saoltm) | L/t YL/t N (30n)/g(rs—rw) [ ZICHSIZD(mm) SENTE  |EEATE) riF pEsds Asak
9:31 1 0.0260f 0.0260 119.1 119.1 10.9128 0.0039 0.0430 25 0.0020f 0.0280 38.6% 19.1%
9:32 2 0.0215f 0.0215 127.8 63.9 7.9935 0.0039 0.0315 25 0.0020] 0.0235 32.4% 16.2%
9:35 5 0.0170f 0.0170 136.5 27.3 5.2249 0.0039 0.0206 25 0.0020f 0.0190 26.2% 13.2%
9:45 15 0.0135f 0.0135 143.3 9.6 3.0905 0.0039 0.0122 25 0.0020] 0.0155 21.3% 10.9%
10:00 30 0.0120f 0.0120 146.2 4.9 2.2073 0.0039 0.0087 25 0.0020f 0.0140 19.3% 9.9%
10:30 60 0.0110f 0.0110 148.1 2.5 1.5711 0.0039 0.0062 25 0.0020] 0.0130 17.9% 9.2%
13:30 240 0.0090{ 0.0090 152.0 0.6 0.7958 0.0039 0.0031 25 0.0020f 0.0110 15. 1% 7.9%
9:30 1440 0.0080f 0.0080 153.9 0.1 0.3269 0.0039 0.0013 25 0.0020] 0.0100 13.8% 7.2%
HiLIAHAS B3 (Cm) 0.0009 [1:2H 2o ZO0IA =241.0007HXl 22 0l (m) 107.59
Ws/V (g/cm) : SEH 1M Y AXAZ 2 12: 98 220 IZUIA =23 1.0507HX 2 L0l () 10.87
Lb : X 32 20| (mm) 136.84
1/(Ws/V)=  8.71 cm/g Gs/(Gs-0.99678) *rw 1.580 g/om Vb 1 BE 29| L£1j(or) 57.50
A HIAARIHO CHO A (o) 58.84
3. AMItS
Ao 1 2 3=2-1 4=3/Ws 5 6 7=6*P2.0
- = S2AE+ ‘—*8/\|E
X SIS [8IIRH] o5 o MRE NENFE IIEENs (BEXIIIE Sis
0.85mm(N0.20) 1 437.3 443.0 5 70 5.0% 5.0% 95.0% 91.5%
0.425mm(N0.40) 2 369.9 384.1 14.20 12.4% 17.3% 82.7% 79.6%
0.25mm(N0.60) 3 380.0 396.5 16.50 14. 4% 31.7% 68.3% 65.7%
0.106mm(NO. 140) 4 345.1 373.5 28.40 24.7% 56.5% 43.5% 41.9%
0.075mm(NO.200) 5 349.2 357.0 7.80 6.8% 63.3% 36.7% 35.4%




FoAUZANE(M24 AE)
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NE#S © €088 oisHeR oz 2] %
NP 2016.8.23. =T - M

- NO.1OMIO 2 AIEE 82 A1
4 DIHER
HHMAIZS SIAZ2AMW) CAZXAIZI AIZ2H W)
ANZ
= (RHZIAEAZS+2II) 3566.8 g (W+221) 2 H 655.6 g
2|12 564.3 ¢ ZI12 564.3 ¢
HHAIZES SIAEZ2AHW) 3002.5 ¢ W1 91.3 ¢
1. 2nmAl SUAIZS g=Hl EF
NO 1 NO 2 NO
W 715.9 Ww 814.6 W
Ow 615.0 Tw 177.7 Ow 696.4 Tw 180.6 Ow Tw
Ww 100.9 Ws 437.3 Ww 118.2  Ws 515.8 Ww Ws
W= 23.1% W= 22.9% W=
g 23.0%
. EHAZAIZRA(WO) = W/ (1+w) 2441.2
. 2mAl SDUAZTAIZLH(W2)= W2=IWO-W1 2349.9 ¢ 2349.9
. P2.o(LZ2.0mmoIl A S IR EDE)= W2/Wo 96.3%
. 2mA0 e A= MEA
HAte 1 2 1 2=1/W0

_ = o geNet | geNE oy | 1® | o=

Mg 8IRH | g | eaw | FFE*| wss | =as
75.0mm 1 437.10 437.10 0.00 0.0% 0.0% | 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% | 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% | 100.0%
26.5mm 4 469.50 469.50 0.00 0.0% 0.0% | 100.0%
19.0mm 5 456.80 456.80 0.00 0.0% 0.0% | 100.0%
9.5mm 6 489.70 492.50 2.80 0.1% 0.1% 99.9%
4.75mm 7 524.00 530.40 6.40 0.3% 0.4% 99.6%
2.0mm 8 431.10 513.20 82.10 3.4% 3.7% 96.3%

* AXANZ 2 : 91.30 ¢
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ANESR: ZF(HES) 7<=l =} ol o] = }o’
A)C&-,I o|-71| Al & X 2ES £
Algdsl 1 2 3
g7 H 5
2I|2A+EH 2527
EI|FAH+0IEE 2
= o & 7 0 0 0
g 7] & A
of 2 AL 2 2 4 0 0 0
g == H| #DIV/0! #DIV/0! #DIV/0! (A2 &AM otE
oM SHA|
Al & 3l F 1 2 3 4 5
= 5t sl 13 22 28 32
g 7 H 3
SI|FH + H2Z5FA 248.4 232.6 246.8 251.8
7|82 + 0255 A 231.1 221.4 234.8 236.5
= 9o 7 A 17.3 11.2 12 15.3 0
g 7] & A 180 186.9 193.5 181.5
O 2 A2 2 A 51.1 34.5 41.3 55 0
g = H[(%) 33.9 32.5 29.1 27.8 30.8
O M SHA|
50
45
40
35
= 30 ‘*
<k o5
o
[I[e]
ar 20 \
15 !
10
5
0
1.0 10.0 100.0
sh=d](W) %
Al A o}
MK |UMESHA (M SHA
NP 30.8% NP




